
UEE and ELL 

I. [Put tick mark for the right answer]  

1  If a child goes to School but does not learn:  

(a) It is the child’s problem.  

(b) A child’s right to education is being violated  

(c) The teacher should be suspended  

2  The present legal framework offers only for a provision of the right and does not 

make it obligatory for the state to provide free and compulsory education. This 

will  

(a) Lead to the actual realization of the said Right  

(b) Make the child go to court  

(c) Give room for the violation of the right to education  

 


